T2van "7 ' R, MAnd .7"'0a

The teaching of 790 - N7 DRETY 770 TIebn PPPuan
is disrupted in order to take out the dead for burial

OVERVIEW

The Xn>72 teaches us that we disrupt the learning of 7710 in order to pay our
respects at the funeral of a deceased person. This indicates that to partake in
a funeral even as a spectator takes priority over n"n. Our n1901N resolves a
contradictory ruling.

mooin asks a question:
- [(n7e) NON] YIN 797 [N90021] (mabnaT) num
And there is a difficulty; for in [R©?] P98 797 [N2®%] we have learnt that —
= 20950 %9Y YWIMYN NYNN NPY 2249 9N
V'"9 said my initial training before the sages was in the following episode —
= 31995 7992 *NY9V NINM NN INNIMI 772 79NN *NHN HNN DY

one time I was traveling on a road and I found a dead person, on whom
there was a m3% to bury him* and I was occupied with him, carrying him a

distance of four % -
- 1PNYAPY MIAPN HAY PHNANY 1Y
Until I brought him to a cemetery where I buried him —
- YVINP 229) TYIN 29 219D Y927 NI YNNIV
And when I came and presented my story before >'"91 R'"'9 (these were the
o™ of ¥") —
- %73 D7 NIV 1IIND NYIDD) NYDD Y5 by *5 1IN
They said to me for every single footstep that you took in carrying this nn

for 72> '7 it is as if you have spilled innocent blood (each time you took an
additional footstep). m»doIn is presently assuming that ¥"9 told them this story (perhaps)
to explain his tardiness in coming to the w1727 n°2. Seemingly their response was that
this is no excuse. The m¥n of 7710 TN is greater than burying the dead (even a mxn nn).
Therefore for every step that you took in burying this n», which caused 7m0 71122, you
are 7n°n 27.° Based on this assumption noo1n raises the contradiction between our X713
which states that n»77 DRI n'"n Povan (even not for a M¥n N») and the story in X"7 Non

! The parenthesized word is omitted and the text reads according to the bracketed inserts.

2 The following episode caused ¥" to be more careful in 1"n ww.

3 A 7n is two thousand nnx (approximately 3,000 feet).

4 A mzn mn refers to anyone who dies and there are no people who are taking the responsibility to bury
them. It is incumbent upon whoever comes in contact with this n (even a 2173 3732) to bury him.

3> The punishment for 770 71072 is 17D as indicated in X,0% 177710 (see R"D X" P?).
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which seems to imply that n"n is far greater than even burying a mx» n»n (and certainly
greater than the X7 of a ‘regular’ nn).

nB0IN answers:

= DN 51052 DIVN IND ONNT 920 YN
And one can say that there by the story of ¥"1 it was not on account of
770 992 that *" 8" admonished v, for as the X3 states here on the contrary that

npn PR¥IT2 0" Povan and certainly for the burial of a mxn nny —
= INSY DIPNA 1PV 1Y 191 9PN NP MM NNT DIVN NIN

But rather the reason they admonished him so harshly was because a n»
mx3n acquired ‘ownership’ of his place where he died, and ¥"7 should
have buried this %% n» in the place where he found him; and not transport

him four 2°n to a N12p77 n*2. This is what they meant that for every step that you removed
him from his proper burial place; it is considered as if you were *p1 07 JoW.”

moon offers an additional proof to the previous interpretation of the story with ¥":
= PN NP NINN NN TIINRPT 1999 EMNNY NOUNI ¥IYN 19)

And this is also indicated in n»w noon» where it is stated that a mx» n»
acquired his place —

= 9919 YWIMNYUN NYNN NAPY 2249 9N 199 1075191 299NN DN 2927 HY 92191
And he who transgresses the words of the sages (11 12 yw i, who
instituted this right for the mx¥n nn) is liable for the death penalty. The pa»
there concludes:'! and so too said ¥''2; the beginning of my training, etc.
It then cites the entire previous story. Since the story of ¥"1 follows the M%7 of m¥n nn it
is evident that the story is cited to prove the M%7 of mx» na. One; that a M¥n N1 is 7P
1mIP71; and should be buried where he was found. In addition, if one does not fulfill this,
he is 70 2. Both these points are brought out in the story of ¥"9 as explained in
mooin answer. If however s'v"1 wrongdoing was on account of 70 9102 it would not
have been cited in Mnnw Noo» (in conjunction with the laws of a Mx»n n»).

% The Xn*2 in X,XD 77 p"2 states that this is one of the ten conditions that 11 12 YW instituted when he
divided *"x for the o*vaw.

7 The reason is explained shortly.

8 mmmw noon is one of the Nawp MNoo» and is usually found (together with 13 y2X 777 Noon) after 112y noon
mom. It deals primarily with m?ax "1 and is euphemistically named mnnw nson. In our texts of naon
mnnw it does not state (clearly) that ¥ p»n m3p M¥» N and certainly not that 7n°m 20 0°130 127 %Y "2Wh
(See however 1"s XY R"7 Noon). It also does not state “w nwn' n7nn ¥"3 K 197, but rather (merely) nx
M’ nbnn ¥,

% This may be derived from what is written there in 37 7597,

10 This is stated in 2,7 77 N1372 Noox.

199 17990
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mooin offers a different resolution to his original question:
= N9 97291 NN *a9 290

And the ®'"s2=3p» "1 answered that there is no contradiction between our Xnx
which requires 70 2102 for nnn nR¥IA, and the admonishment of ¥"1 for his tarrying
with the mxn nn —

$TTIDNM 9N AWUNIY DYTHT 9IRP 09N 1905 YHIYUN 1KY JVAT DIVN ONNT

For there the reason he was admonished was because he hindered himself
from serving n''n; that is what they meant when they admonished him,

for serving the r1'"'n is greater than learning the 77n.'? Therefore even though
we are 7N 7% Hvan on account of N1 NXYIT; however n'"'n W w takes priority even
over a mx¥n ny.

SUMMARY

A mxn nn is to be buried in the place where he is found. If one moves him,
every step taken away from his original resting place is considered 27 n3>»w
>P1. The 5">27pn > maintains that for laxity in 1''n W one is 1n°H 217,

THINKING IT OVER
1. Why did nwoin originally assume that ¥"3 was °p1 07 79 on account of
770 712, and not because a M¥A N is MIPK NP (as MdOIN concludes)?

2. What is the view of the %"2mpn " concerning burying a m¥» n» in his
place?'® If he agrees with moon, why is there a need for a different answer?

12 9,1 m312. He was 1inn 211 since he has lax in n"n wm w. See 1""50 Kot X"7T No0n.
13 See miw 70w in the p"now and ax5o1.
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